Admiral AAV7000AWW 03 - CONTROL PANEL

Admiral Residential Admiral AAV7000AWW Washer Parts Parts Diagram 03 - CONTROL PANEL
Click on the part number to view part

1 21002042 Panel, Control / Facia

" 21002152 Facia

2 253092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

" 21001546 Endcap, Panel

3 21001547 Endcap, Panel

" 253092 90767 Screw, 8A X 3/8 HeX Washer
“ Head Tapping

4 95.3092 90767 Screw, 8A X 3/8 HeX Washer
"~ Head Tapping

" 21001139 Swit.c.h, Water Temp. 3

Position

5 25.3092 90767 Screw, 8A X 3/8 HeX Washer
— Head Tapping

" 21001882 Switch, Pressure

" Y2201474 Switch, Pressure

" 21002077 Shield, Control-1 Hole/Console

6 21001520 Skirt, Timer Knob


http://www.pwslaundry.com/c-502718-residential-admiral-aav7000aww-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10393081-admiral-21002042-washer-panel-control-facia.html
http://www.pwslaundry.com/i-10393082-admiral-21002152-washer-facia.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392906-admiral-21001546-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10392908-admiral-21001547-washer-dryer-endcap-panel.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392910-admiral-21001139-washer-switch-water-temp-3-position.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10393001-admiral-21001882-washer-switch-pressure.html
http://www.pwslaundry.com/i-10393041-admiral-y2201474-washer-switch-pressure.html
http://www.pwslaundry.com/i-10393038-admiral-21002077-washer-shield-control-1-hole-console.html
http://www.pwslaundry.com/i-10392914-admiral-21001520-washer-skirt-timer-knob.html

8 21001517 Shield, Control

Screw, 8A X 3/8 HeX Washer

10 25-3092 90767 Head Tapping

Screw, 8A X 3/8 HeX Washer

11 25-3092 90767 Head Tapping

12 21001544 Knob, Selector


http://www.pwslaundry.com/i-10392916-admiral-21001526-washer-knob-timer.html
http://www.pwslaundry.com/i-10392925-admiral-21001517-washer-dryer-shield-control.html
http://www.pwslaundry.com/i-10392917-admiral-21001552-washer-dryer-frame-control-panel.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392919-admiral-21001527-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10394955-admiral-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10392921-admiral-21001522-washer-timer.html
http://www.pwslaundry.com/i-10392922-admiral-21001544-washer-dryer-knob-selector.html

	Admiral AAV7000AWW 03 - CONTROL PANEL

